$F86 IMARAKR—VIRE LHER

ATR— Y R B ZE D4
%8 6 3EAR— VIR U

AR — Y R BLEE S5 D %6 52 )
VR 2 84E7H30H

ek e &2 3 U= B SO AR
TR 2 88 H 6 H

TA R

() ~F4E8 A6 H

(1) RORFE8H 7H

Fr2848HA8H

MITTBGEABRRR—ViRE+ 42—

(+)

(H)

PRk 2 88 H9H (k) ~F¥pk2 9F8H8H (k)
ZR—VIEHL U ORER LY AL
‘BIG
e R A M R
N A N AR roeqF—n] | <
B e 1
©) 8/6 g7 v kT —X 0 % 1 A AAE 2
©) 8/6 WLy X 4 %kt 1 W~ L~—1 1
® 8/6 F CHIK 3 % 2 Ca b oiEH 1
@ 8/6 VINZAVN 73 2 %1 P B 1
® 8/6 AN A AENIN = 2 % 0 BRI T RA 1
® 8/6 KETNT 4 —T % 1 % 0 T B A SAE [if] 1
©) 8/6 LA Vv 1 % 2 BEF <~ VU /A 2
® 8/6 JI 7 v & —1 4 %t 0 vy v 74— VR 1
©) 8/6 TIE Ly 7 A 1 %t 0 UL 1
@) 8/7 FCHTHPLET 2 %t 3 L 77iiA 2
) 8/17 Ly VKK 2 %t 3 FiIEF C 2
® 8/7 Y — 7 AR 1 o5t 1 X777 v dbiu 0
® 8/7 F Cll B 1 o5t 1 1~ B~ — Ll 0
) 8/17 JeifEE = Y R — L ALIR 3 %t 2 THAKT AL A 1
(B < UREREOMF 1] EFR—AF—20905MTOBE, 2] FFR—LF —20905 M TOAT,
0] ZeoM Bl - EE) 287,
WH A 4K SR VAR YR IE] (BIG) N 4
(M) q=p (F)
1 % 0 0 1,367, 948, 238
2 % 1, 881, 606 30 0
3 % 37,131 337 0
4 = 9,960 2,517 0
5 % 1,740 14,044 0
6 % 570 56, 024 0
I S - A 18] (BIG) Mn%i4: ()
e BasE (M) 1, 254, 405, 900 1 % 891, 273, 996
BEOE (0) 4,181, 353 A 0
RS (K0 1,045,972 3 & 0
4 % 0
5 % 0
6 0




+100MBIG

B oE R A& & B
No. ﬁwé [F—2F—2] AR (7D =1F—2] < LR
A H
@ 8/6 BET N T—X 0 %t 1 X NVE2lE 2
@) 8/6 WL > X 4 % 1 W~ L~— L 1
® 8/6 F CHIK 3 % 2 Ca bR 1
@ 8/6 VINZAPNT 2 %t 1 WAV =Y i 1
® 8/6 VA YN 2 %t 0 HHBT T A 1
® 8/6 KETIVT f—T% 1 % 0 7Y A G 1
G) 8/6 MrAn 1 ot 2 BREF -~ U /) A 2
8/6 Jig7wa % —1 4 %t 0 T 77— VHF 1
© 8/6 TILE Ly 7 A 1 xt 0 N I ] 1
8/7 FCHTHELET 2 % 3 L/ 77iA 2
@ 8/7 Ly VKK 2 %t 3 FiIEF C 2
®) 8/7 Y 4R 1 %1 AV S wIR | 0
® 8/7 F Cllz B 15t 1 < B ~— Ll 0
8/7 evEiE = Y F— AL 3 %t 2 BT 2L 2 1
(B < UFEREOMF 1] IR —AF—20905MTOBE, 2] ZFR—AF =200 TOAT,
Moy xzoftt B1&5F - IER) 2#&7.
WA AKE A K [al (BIG) N4
(F () (F)
1 % 200, 000, 000 1 345, 220, 922
2 % 934, 630 16 0
3 % 26, 310 221 0
4 % 3,330 1, 811 0
5 %5 890 10, 026 0
& = 45 A 18] (BIG) hn%i4: ()
e k& (M) 299, 081, 600 1 % 431,569, 914
BEOH (R) 2,990, 816 2 % 0
IR (K0 559, 043 3 & 0
4 % 0
5 % 0
+BIG1000O
B E R A B B
No | BT reag—a) RO (Foeqr—ny | R
BAfke H
© 8/6 JEET v hT—X 0 % 1 R NVEE 2
@) 8/6 Ly X 4 %t 1 WEg~ L ~—1 1
® 8/6 F CHIX 3 % 2 Ya b uiH 1
@ 8/6 VN PAVNT 2 % 1 T B 1
® 8/6 WA A SENIN = 2 xt 0 R T R 1
® 8/6 KRETNVT 4—Vx 1 % 0 T B A ] 1
@ 8/6 My A v 1 % 2 BEREF - <V /% 2
8/6 I a= e e 4 %k 0 vy 7+ — LR 1
©) 8/6 TIVE Ly T AHE 1 % 0 v BB A 1
8/7 FCHTHELET 2 %t 3 L/ 7 7iiA 2
@ 8/7 Ly YKk 2 xt 3 R T C 2
() < UFEROMYP M) 38— F—2 0905 oML, 2] ZAh—LF —2D9055fToAIT.

o) xzoft (51&000 - ER) 28T,




o) Xz GlEaT - ER) 2RI,

W A A% SR VIRE: YRIE] (BIG1000) & 4>
(M q=p (M
1 % 7,145,976 8 0
2 % 117, 146 122 0
3 % 12, 264 1,163 0
4 %% 1, 340 1,127 0
B o= A& i A A1 (BIG1000) In%i4: (1)
e baa (M) 190, 559, 400 1 % 0
BEOH (1) 952, 797 2 % 0
BeEERE (B0 296, 501 3 % 0
4 % 0
‘mini BIG
B oE R A& B B
T A N AR 7oeqsr—n] | SR
Bk H
©) 8/6 &7 v kT —X 0 % 1 A NAAE 2
©) 8/6 WFnL > X 4 % 1 W~ L ~— L 1
® 8/6 F CHIK 3 % 2 Ca b ol 1
@ 8/6 VINPAPN I 2 % 1 WA NG =N 1
® 8/6 A YN 2 %t 0 HHBT T RA 1
® 8/6 KRETLVT 4 —Tx 1 xt 0 T B A g i) 1
@ 8/6 LA Vv 1 % 2 FiRF - <=V /X 2
® 8/6 JI 7 v & —1 4 % 0 vy v 74— LR 1
© 8/6 TAE Ly 7 A 1 %t 0 R 1
(B < UREREOMF 1] EFR—AF—20905MTORBE, 2] FR—LF—20905 M TOAT,

WA AKE B A K Ial (mini BIG) N4
(M) q=p (M)
1 % 958, 874 34 0
2 % 21,782 600 0
3 % 4,000 4, 881 0
B = &5 i A Al (mini BIG) MNE4: ()
e k& (M) 130, 407, 000 1 % 0
B (m) 652, 035 2 i 0
R (K0 220, 121 3 & 0




toto

o) 1xzoft (51&500 - ER) 28T,

BoE R A& K
No | B f'\ [F—2F—2] AR (7D =1F—2] < LR
A H
@ 8/6 BET N T—X 0 %t 1 X NVE2lE 2
@) 8/6 WL > X 4 % 1 W~ L~— L 1
® 8/6 F CHIK 3 % 2 Ca bR 1
@ 8/6 VINZAPNT 2 %t 1 WAV = i 1
® 8/6 VA YN 2 %t 0 HHBT T A 1
® 8/6 KETNT 4 —Vx 1 % 0 7Y A G 1
G) 8/6 MrAn 1 ot 2 BREF -~ U /) A 2
8/6 Jig7wa % —1 4 %t 0 T 77— VHF 1
© 8/6 TILE Ly 7 A 1 xt 0 N I ] 1
8/7 FCHTHELET 2 % 3 v/ 7 7iia 2
@ 8/7 Ly VKK 2 %t 3 FiIEF C 2
®) 8/7 Y 4R 1 %1 AV S wIR | 0
® 8/7 F Cllz B 15t 1 < B ~— Ll 0
(7E) < UREROMT M) 13A—2F—20905 M TOBL, 2] ZA—2F —2D905 M TOAIT,
Moy xzoftt B1&51F - IER) #&7.
WA AKE WH AN KAl (toto) N4>
(F () (F)
1 % 26,479, 687 2 0
2 % 453, 956 25 0
3 % 23, 890 475 0
B = &5 it A 1Al (toto) MNE4 ()
7¢ b (M) 151, 312, 500 1 % 0
wEOH (A7) 1,513,125 2 % 0
IR (K0 154, 692 3 & 0
‘mini toto Aff
BFoE R A& B K
O A B Py AR 7oeqr—n] || < EFR
BA ke H
©) 8/6 BET v N7 —X 0 % 1 _H N EAlIE 2
@) 8/6 WFL > X 4 % 1 W~ L~—1 1
® 8/6 F CHIX 3 &k 2 Vo 1
@ 8/6 VINZAVNT 2 % 1 T B 1
® 8/6 WA A SENIN = 2 xt 0 R T R 1
(7)) < UFEROMYP M) 13AR—2F—2 0905 ToOME, 2] ZA—LF —20D9055THAIT,

YA LA R wIEl (mini toto AFH) N4
(H) (F) (H)
1 % 5,643 1,639 0
B H= A G A el (nini toto ARH) MNFLE: ()
ge bada (1) 18, 497, 900 1 % | 0
&EAK (A) 184,979
FEME (KO 35,172




o) 1xxoft (51&m0 - ER) 2£7T.

‘mini toto B#
B oE R A& & B
N | 2 f’\ [—iF—24] NGRS (77 =1F—2] ¢
A H
D 8/6 MrA 1 %t 2 BEF - ~VU /) A 2
® 8/6 JIl 7 oo %—1 4 %F 0 vy 7 — LT 1
® 8/6 TILE Ly 7 A 1 %t 0 N I ] 1
@ 8/7 FCHTHELET 2 % 3 v/ 7 7ilia 2
® 8/7 Ly VKK 2 %t 3 FiIEF C 2
(7E) < UREROMT M) 13AR—2F—20905 M TOML, 2] ZA—0F —20D9055 M TOAIT,

() < UHEROM T0) 12900 B ToAF— 20 104 |
(2] 12903 CORKF— 2D 25 |

WA e FE WA 0 la] (mini toto BHH) N 4:
() q=)) ()
1 % 18, 338 401 0
B = A& A al(mini toto BHE) INE 4 (M)
e b4gE (H) 14,707, 400 1 & | 0
BEOH (O) 147,074
BeERE (B0 26, 641
*totoGOALS3
B oE R & B B
” [R—2sF—24] g < UfEH
Eﬁ'{ﬁa NO. [77'7:‘:/‘,3:%‘5\] uitlzlﬂ/?lﬂil:%
O| FCH 3 3
8/6 @ YabufEH 2 2
8/6 Q| Hr Kk 2 2
@\ HrEm 1 1
8/6 G| YrrvrvFEE 2 2
® | 4B T7 3% 0 0

1) 390 TOBEF — LD/ 17 |
[3) 12903 TOEF—LDOHA T3HLL L] 2T,

WA GKE B A K IE] (totoGOAL3) N 4

(M) q=p (M)

1 % 109, 293 86 0

2 % 3,390 1, 849 0
S S - A+ [8] (totoGOAL3) N4 (1)
e b&E (M) 31,337,100 1 % 0
B (m) 313, 371 2 i 0

R (K0 42,123




